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XII.  ¶ïÝ»É ³í»Éáñ¹ µ³éÁ:  
         Find the odd word. 

 
If there is one thing that all the world’s various cultures have been in common, it is 
marriage. 

 
a) that 
b) various  
c) been  
d) it  
 
Robots will be sent to explore the surface of the Moon and bring back many 
information.  

 
a) be  
b) the 
c) back  
d) many 
 
Students and teachers of English language can travel to other countries, thanks to 
the Soros Foundation. 

 
a) language   
b) can  
c) other  
d) thanks  
 
Some scientists, such as Stephen Hawking, believe it’s likely possible that there are 
billions and billions of universes.  

 
a) some   
b) such   
c) likely  
d) that  
 
Bill Gates who is the owner of Microsoft, a huge computer software company and 
he lives in an enormous high-tech house.   

 
a) who  
b) software  
c) he   
d) house  
 
I think I would enjoy working at the camp as though I am very fond of children. 
 
a) would   
b) working  
c) though  
d) very  
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Ð³ñ·»ÉÇ° ¹ÇÙáñ¹ 
 

²é³ç³¹ñ³ÝùÝ»ñÁ Ï³ï³ñ»ÉÇë Ûáõñ³ù³ÝãÛáõñÇó å»ïù ¿ ÁÝïñ»É ³ÛÝ 
ï³ñµ»ñ³ÏÁ, áñÁ Ò»ñ Ï³ñÍÇùáí ×Çßï å³ï³ëË³ÝÝ ¿, ¨ å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃÇ 
Ñ³Ù³å³ï³ëË³Ý Ù³ëáõÙ Ï³ï³ñ»É ÝßáõÙ: 

ÊáñÑáõñ¹ »Ýù ï³ÉÇë ³é³ç³¹ñ³ÝùÝ»ñÁ Ï³ï³ñ»É Áëï Ñ»ñÃ³Ï³ÝáõÃÛ³Ý: 
àõß³¹Çñ Ï³ñ¹³ó»°ù Ûáõñ³ù³ÝãÛáõñ ³é³ç³¹ñ³ÝùÇ å³Ñ³ÝçÁ ¨ å³ï³ëË³ÝÝ»ñÇ 
³é³ç³ñÏíáÕ ï³ñµ»ñ³ÏÝ»ñÁ: ºÃ» Ò»½ ãÇ Ñ³çáÕíáõÙ áñ¨¿ ³é³ç³¹ñ³ÝùÇ 
³ÝÙÇç³å»ë å³ï³ëË³Ý»É, Å³Ù³Ý³ÏÁ ËÝ³Û»Éáõ Ýå³ï³Ïáí Ï³ñáÕ »ù ³ÛÝ µ³ó 
ÃáÕÝ»É ¨ ¹ñ³Ý ³Ý¹ñ³¹³éÝ³É ³í»ÉÇ áõß: 
 

Ò»ñ ³éç¨ ¹ñí³Í Ã»ëï-·ñùáõÛÏÇ ¿ç»ñÇ ¹³ï³ñÏ Ù³ë»ñÁ ³½³ïáñ»Ý Ï³ñáÕ »ù 
û·ï³·áñÍ»É ë¨³·ñáõÃÛ³Ý Ñ³Ù³ñ: Â»ëï-·ñùáõÛÏÁ ãÇ ëïáõ·íáõÙ: êïáõ·íáõÙ ¿ ÙÇ³ÛÝ 
å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃáõÕÃÁ: 

²é³ç³¹ñ³ÝùÝ»ñÁ  Ï³ï³ñ»Éáõó Ñ»ïá ãÙáé³Ý³ù å³ï³ëË³ÝÝ»ñÁ áõß³¹Çñ ¨ 
ËÝ³Ùùáí Ýß»É å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃáõÙ: ä³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃÇ ×Çßï 
Éñ³óáõÙÇó ¿ Ï³Ëí³Í Ò»ñ ùÝÝ³Ï³Ý ÙÇ³íáñÇ ×ßïáõÃÛáõÝÁ: 
 

ò³ÝÏ³ÝáõÙ »Ýù Ñ³çáÕáõÃÛáõÝ: 
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Level A 
 

I. Î³ñ¹³É ï»ùëïÁ ¨ å³ï³ëË³Ý»É Ñ³ñó»ñÇÝ` ÁÝïñ»Éáí ×Çßï ï³ñµ»ñ³ÏÁ: 
Read the text and answer the questions choosing the right option.  

 
Line number  
 
1 We all know that exercise is good for you. However, doctors from the American Medical 
2   Joggers’ Association under the supervision of Ron Lawrence have recently made some    
3   astonishing  new discoveries about the effect of exercise on the central nervous system.      
4   Last year the team of doctors did a series of tests on some of the competitors in a race. 
5   They discovered that during exercise a morphine-like substance is released into the blood 
6   system. This proves that exercise can result in a “high” similar  in effect to an injection of 
7   morphine! This effect lasts for as long as you exercise and perhaps explains why so many 
8   people are addicted to jogging! 
9   If Dr. Lawrence’s theory is correct and exercise can be used as a way of elevating the mind. 
10  creative artists should take note as their type of work can often result in long periods of 
11  mental exhaustion. Writers and artists such as Oscar Wilde and Modigliani died of drink and 
12  drugs before middle age, because they were unable to cope with the depression that occurs  
13  after intense creative activity. Sir Laurence Olivier, the actor, does weightlifting for an hour 
14  before he goes on stage, because he feels it enables him to give a better performance. 
15   He believes that any exercise that moves the body must also move the brain. 
                              

      
What is the essence of the new discovery made at the University of California? 
 

a) Physical exercise has a beneficial effect on mental process 
b) The effect of exercise is unpredictable 
c) Too much exercise is not good                      
d) Physical exercise is good for health 
 
A series of tests showed that 
 

a) too much  exercise is so harmful as morphine                       
b) exercise can have a dangerous result 
c) people’s addiction to jogging can be explained scientifically 
d) exercise has the same effect as morphine 
 
It can be inferred from the passage that 
 

a) creative artists should avoid mental exhaustion 
b) writers often die of depression  
c) exercise is especially useful for creative artists 
d) creative activity results in addiction to drinks and drugs 
 
Lawrence Olivier did weightlifting for an hour because 
 

a) he wasn’t physically strong enough 
b) he was fond of sports 
c) it helped him to act on the stage 
d) he generally played the parts of superman in performances  
 
According to the passage  
 

a) exercise is equally good for people involved in physical and mental work 
b) too much exercise can have harmful effects 
c) nothing can make people move their brains 
d) the sportsmen are supposed to be the cleverest people in the world 

1 

2 

3 

4 
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XI. Î³ñ¹³É ï»ùëïÁ ¨ ÁÝïñ»É µáí³Ý¹³ÏáõÃÛ³ÝÁ Ñ³Ù³å³ï³ëË³ÝáÕ µ³éÁ: 
       Read the text below and choose the word that best fits each space. 
 

       You spend about one-third of your life sleeping. Sleep not only takes up a large part of your life 
but also is an (69) ___________ part of your health. During the sleep your body gets a (70) 
___________ to rest. Your heart rate and breathing rate slow down. Your body (71) ___________ 
and blood pressure drop. Many of your muscles relax. Since many of your body’s activities slow 
down, your body uses less (72) ___________ while you sleep. Some parts of your body remain 
quite active while you sleep. Body cells grow and repair themselves more rapidly during the sleep. 
Lack of sleep during the teenage years interferes with these processes and might interfere with 
proper growth. 
      Most people feel tired and cross if they don’t get enough sleep. Lack of sleep can affect a 
person’s (73) ___________ to think clearly or perform physical tasks safely. Sleep studies indicate 
that after several days without sleep, people become (74) ___________ and confused. They find it 
difficult to follow directions. Sometimes they begin to see and hear things that do not exist. These 
changes in behaviour disappear when people sleep regularly again. 

 
 
 

a) interesting 
b) essential 
c) large  
d) only 

 
 
 

a) opportunity 
b) meaning  
c) chance 
d) right 

 
  
 

a) temperature 
b) warmth  
c) weight  
d) heat 

 
 
 

a) electricity 
b) energy  
c) light 
d) time 

 
 
 

a) performance 
b) knowledge 
c) disability 
d) ability 

  
 
 

a) intelligent 
b) forgetful 
c) bright 
d) clever 

69 
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X.  ÀÝïñ»É Ý³Ë³¹³ëáõÃÛ³Ý µáí³Ý¹³ÏáõÃÛ³ÝÁ Ñ³Ù³å³ï³ëË³ÝáÕ ï³ñµ»ñ³ÏÁ:  
       Choose the right completion.  

 
 ________________, we seldom see each other. 
 

a) Now when Henry lives in Boston    
b) Now that Henry lives in Boston    
c) No matter if Henry lives in Boston    
d) Now then Henry lives in Boston    
    
 Millions of people around the world continue to smoke ________________. 
 

a) in spite of the fact that smoking causes cancer  
b) due to the fact that smoking causes cancer  
c) even though the fact that smoking causes cancer 
d) because smoking causes cancer 
  
 ________________, the government has decided not to fund it. 
 

a) When they see that the scheme is likely to fail 
b) While seeing that the scheme is likely to fail 
c) To see that the scheme is likely to fail 
d) Seeing that the scheme is likely to fail 
   
 A bridge collapsed last Monday _______________ which hit Southern California.     
        

a) as a result of an earthquake 
b) resulting in an earthquake  
c) causing an earthquake 
d) so that there was an earthquake  
 
 You had better lock all the doors, ___________ you will be in trouble. 
 

a) in case of  
b) provided that  
c) so that 
d) otherwise  
 
I’m looking forward to seeing the Pyramids ____________ we visit Egypt. 
 

a) whenever 
b) when  
c) by which  
d) since when 
  
Drinking wine in a dream means that you will experience happiness, ____________ 
drinking beer means that you will be disappointed. 

 

a) therefore     
b) whereas  
c) as far as  
d) for 
 
 I don’t know ___________ my grandfather manages to live on his small pension. 
 

a) how   
b) why  
c) that  
d) what  
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II. î»ùëïáõÙ µ³ó »Ý ÃáÕÝí³Í Ý³Ë³¹³ëáõÃÛáõÝÝ»ñ: Èñ³óÝ»É ï»ùëïÁ`   
       ï»Õ³¹ñ»Éáí Ñ³Ù³å³ï³ëË³Ý Ý³Ë³¹³ëáõÃÛáõÝÁ:                
       Fit the missing sentences into the numbered gaps of the following text. 
 

Almost every nation is famous for a particular characteristic feature. People say that 
Irish people talk a lot. They say that the Welsh are great singers. The Scots, they say, are 
not a very happy or fun-loving nation, and they are also very careful with money. 
6________________. But it is true that there are some very good Welsh actors and 
singers like Anthony Hopkins, Catherine Zeta Jones and Tom Jones. 

Foreigners have some ideas about the things that are considered to be ‘British’. 
7________________. The great British breakfast and afternoon tea, for example, are 
mostly found in hotels and ‘bed and breakfast’ places for tourists. 

And the British do not only drink tea these days. 8________________. They drink, 
on average, 3.39 cups of tea each day and 1.65 cups of coffee.  

9________________. Most of them are not very interested in clothes. Many British 
people wear suits to the office during the week, but at weekends they prefer to wear jeans. 

10________________. British people are generally quite shy, and they do not make 
friends easily with strangers. And they are not good at learning foreign languages. 
Perhaps all this is because they live on an island! 

 
  
 

a) People never praise the Welsh. 
b) People never discuss the British.  
c) People never criticize other nations. 
d) These descriptions are not always true. 

  
 
 

a) But some of these things are not part of ordinary people’s everyday life. 
b) The British don’t drink so much tea as foreigners do. 
c) They admire the British for their conservatism and reserve. 
d) And you can hardly see any tourists in British hotels.   

 
  
 

a) They like to have some cakes or biscuits with their tea. 
b) They drink a lot of alcoholic drinks, especially coffee. 
c) They drink only coffee. 
d) Coffee is popular too. 

 
 
 

a) British people spend less money on clothes than the people in other European countries.  
b) Another British custom is shopping for clothes in the most expensive boutiques. 
c) British people wear exceptionally very expensive clothes. 
d) All British people dress very fashionably. 

   
 
 

a) It’s quite easy to make friends with a British person. 
b) The British never speak any foreign languages. 
c) The British are considered to be very sociable. 
d) It takes time to know a British person well. 

6 

7 

8 

9 
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III. ÀÝïñ»É ×Çßï µ³Û³Ó¨Á: 
       Choose the right verb form.  
 

I must have fallen asleep while I (11) _____ because it took me a long time to 
realize that the telephone was ringing. It was Sarah, my girl-friend. She said, “Don’t you 
remember that we (12) _____ to the cinema tonight?” 

I suddenly remembered that she (13) _____ some tickets for the first performance 
of a new film. I said, “By the time I get there, the film (14) _____. Let’s go out to dinner 
instead.” “You are a nuisance,” she said, “I needn’t have accepted the tickets.” 

 
 
 

a) had been working  
b) was working 
c) was worked 
d) am working  

   
 
 

a) were going  
b) are going  
c) go 
d) have gone  

   
 
 

a) has given 
b) has been given  
c) will give 
d) had been given 

    
  
  

a) will have started 
b) would have started  
c) would start 
d) will be started  
 

11 

12 

13 

14 
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The word quit in line 5 means  
 

a) start 
b) begin 
c) leave 
d) change 

 
Which word is synonymous to recognition in line 11? 
 

a) fame  
b) money 
c) profit 
d) wealth 

 
Which paragraph discusses the mental disorder of the painter? 
 

a) Paragraph 1 (lines 1-4) 
b) Paragraph 2 (lines 5-9) 
c) Paragraph 3 (lines 10-13) 
d) Paragraph 4 (lines 14-22) 

      
Van Gogh’s Portrait of Dr. Gachet 
 

a) was sold by van Gogh for $82.5 million 
b) was sold by a Japanese businessman 
c) disappeared in 1996 
d) was lost in 1990 

 
Which word is NOT synonymous to renowned in line 15? 
 

a) unfinished 
b) prominent 
c) well-known 
d) outstanding 

  
According to the text van Gogh 
 

a) was killed on July 29, 1890 
b) died on July 27, 1890 
c) was killed by Theo 
d) committed suicide 

 
We may conclude from the text that Vincent van Gogh 
 

a) died in poverty, all alone 
b) lived a happy life 
c) suffered greatly during his long life 
d) created a lot of masterpieces during his short life 
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Level B 
 
IX.  Î³ñ¹³É ï»ùëïÁ ¨ å³ï³ëË³Ý»É Ñ³ñó»ñÇÝ` ÁÝïñ»Éáí ×Çßï ï³ñµ»ñ³ÏÁ: 
       Read the text and answer the questions choosing the right option.  
 

Line number 
 
1.       Vincent van Gogh was born in the Netherlands on March 30, 1853. His mother had given  
2.   birth to an already dead baby one year earlier, also on March 30. That baby had also been  
3.   named Vincent. Over the course of his 37 years, van Gogh painted some of the most  
4.   renowned paintings of our time.  
5.      Vincent van Gogh quit school when he was only 15 and headed off to England in 1869.  
6.   There he worked as an art dealer for seven years, then he decided to try his hand teaching at a  
7.   Catholic school for boys. In the following years, he went from job to job, living in various  
8.   cities in Europe. Finally in 1880, van Gogh decided to head to Brussels to begin studies in art.  
9.   During the next ten years, he painted 872 paintings.   
10.     Although Vincent van Gogh is a world-famous artist today, he did not get much  
11.  recognition during his lifetime. Van Gogh only sold one painting while he was alive, which  
12.  was Red Vineyard at Arles. For most of his life he was very poor, often spending his money  
13.  on art supplies instead of food.  
14.      Vincent also suffered from severe depression. In a fit of epilepsy he cut off a portion of his  
15.  ear. He was admitted to a mental asylum in 1888. There he painted one of his renowned  
16.  paintings, Starry Night. In 1890, he left the asylum and spent the last few months of his life  
17.  in Auvers, France. For the last few months of van Gogh’s life, he was seeing Dr. Gachet  
18.  about his mental instability. Van Gogh’s Portrait of Dr. Gachet remains one of the most  
19.  expensive paintings in the world. In 1990, a Japanese businessman Ryoei Saito, paid $82.5  
20.  million for the painting. But since his death in 1996, the painting has not been seen. On July 
21.  27, 1890 Vincent van Gogh shot himself in the chest with a revolver. Two days later he died,  
22.  with his younger brother Theo by his side.  
       

 
According to the text Vincent van Gogh 
 

a) worked at a Catholic school for seven years 
b) had painted 872 paintings by 1880 
c) changed his residence quite often 
d) painted 872 paintings in 1880 

      
During his lifetime van Gogh 
 

a) gained fame 
b) made a fortune  
c) painted only one painting 
d) managed to sell one painting  

  
According to Paragraph 4, lines 14-22 
 

a) van Gogh cut a piece of his ear in the asylum  
b) spent two years in a mental hospital 
c) painted Starry Night in France 
d) lived in France till 1890 

51 

52 

53 
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Two George Washington Bridge security guards photographed sleeping on the job 
(15) _____, according to the Port Authority of New York and New Jersey. A bicycle tour 
operator who (16) _____ daily over the bridge from New Jersey to New York snapped 
photos of the two guards on different occasions, and the photos (17) _____ on a New 
Jersey local news Web site. 

    
  
 

a) will fire  
b) fired 
c) had fired   
d) have been fired 

 
  
 

a) will commute  
b) commutes 
c) is commuting 
d) was commuted   

 

  
 

a) published 
b) were published 
c) are publishing  
d) have published  

 
      I could never have guessed what (18) _____ that winter evening, two years 
ago. Outside it (19) _____ heavily and the house was cold. I was alone and I (20) 
_____ TV all evening, when the doorbell rang.         

 
 
 

a) would happen 
b) has happened 
c) is happening 
d) will be happening 

 
  
 

a) has been snowing 
b) had been snowed 
c) would snow  
d) was snowing   

 
  
 

a) was being watched 
b) had watched 
c) would watch 
d) had been watching  

 

15 

16 
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IV. ÀÝïñ»É Ý³Ë³¹³ëáõÃÛ³Ý µáí³Ý¹³ÏáõÃÛ³ÝÁ Ñ³Ù³å³ï³ëË³ÝáÕ ³ñµ»ñ³ÏÁ:           

        Choose the appropriate option. 
 
“When is Robert coming back from the USA?” 
“ _____ .” 

 
a) In next October  
b) The next October 
c) Next October 
d) In nearest October 
  
“Do you often go to the cinema? 
“Not so much. I hardly ever watch films, ______ at the cinema.” 

 
a) either  on TV nor  
b) neither on the TV nor   
c) either  on TV or   
d) whether on the TV or   
 
“Helen and Ann are not talking to each other.” 
“Isn’t it about time they _____ and made up?” 

 
a) shook hands  
b) took a hand 
c) did away with their hands 
d) gave up hands 
   
“Nora is thinking of having an operation to have _____.” 
“It’s worth it. She will look much better” 

 
a) straighten her nose 
b) her nose straightened 
c) to straighten her nose 
d) straightened her nose  
 
“I have been invited to ______ wedding party next Saturday.” 
“So we can go there together, because I have also been invited.”   

 
a) Mary’s and Toms’  
b) Mary’s and Tom’s 
c) Mary and Toms’ 
d) Mary and Tom’s            
 
“Oh! I forgot to take my wallet!” 
“Don’t worry, I______ you some money.” 

 
a) am going to lend  
b) will lend   
c) shall lend to   
d) am going to borrow  

21 
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VIII.  Üß»É, Ã» Ñ»ï¨Û³É Ñ³ñó»ñÇó áñáÝù »Ý ù»ñ³Ï³Ýáñ»Ý ×Çßï: 
         Which of the following questions are grammatically correct? 

 
 Which is the best question for the underlined part of the sentence? 
He doesn’t know how to persuade her. 

 
a) What does he know?  
b) How does he persuade her? 
c) What doesn’t he know? 
d) Who does he persuade?  
              
Which is the best ending for the following question? 
“Everybody was ready for the discussion, –––––––––?” 

 
a) was it  
b) wasn’t he 
c) were they  
d) weren’t they  
      
Which of the following questions is correctly formulated? 
 
a) What do you think when the president will arrive?   
b) What do you think when will the president arrive? 
c) When do you think will the president arrive? 
d) When do you think the president will arrive? 
 
 Which is the best question for the following sentence? 
Yes. It’s terribly hot today. 

 
a) It’s cold today, isn’t it? 
b) The weather is awful today, isn’t it? 
c) What’s the weather forecast? 
d) What is the weather like today? 

  
 

47 

48 

49 

50 
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VII.  Üß»É, Ã» áõÕÕ³ÏÇ ËáëùÇ ÷áË³Ï»ñåÙ³Ý áñ ï³ñµ»ñ³ÏÝ ¿ ×Çßï: 
             Which of the options provided is the best choice for reported speech?   

 
“Hello, Leo! Why didn’t you join us yesterday?” Linda said. 
 
a) Linda said hello to Leo and asked why didn’t he join them yesterday. 
b) Linda greeted to Leo and asked why he hadn’t joined them the day before. 
c) Linda greeted Leo and asked why hadn’t he joined them the day before. 
d) Linda greeted Leo and asked why he hadn’t joined them the day before.                              
 
I asked Jenny what she was doing when I phoned her. 
 
a) I said: “Jenny, what are you doing? I phoned you.” 
b) “Jenny, what were you doing when I phoned you?” I asked. 
c) I asked: “What was Jenny doing when I phoned her?” 
d) I asked: “Jenny, what were you doing? I phoned you.” 
 
Margaret asked: “Where were you three days ago?” 
 
a) Margaret asked where was I three days ago. 
b) Margaret asked where I was three days before. 
c) Margaret asked where I had been three days before.   
d) Margaret asked where had I been three days before. 
 
 “Please, please don’t leave me alone,” Sheila said. 
 “I won’t. I promise,” I said.     

 
a) Sheila asked me not to leave her alone and I said I won’t and I promised. 
b) Sheila warned me not to leave her alone and I said I wouldn’t as I promised. 
c) Sheila threatened me not to leave her alone and I promised I wouldn’t. 
d) Sheila begged me not to leave her alone and I promised I wouldn’t. 
 
The manager asks: “Is anybody absent today?” 
 
a) The manager asked if anybody was absent that day. 
b) The manager asked if somebody was absent that day. 
c) The manager asks if anybody is absent today. 
d) The manager asks if somebody is absent today.          

 

42 
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“I have _____ exciting news to tell you!”  

“Come on! What’s that?”   
 

a) any  
b) some     
c) a pair of   
d) some of  
                   
“I am convinced that if things don’t change ______ in the next few months, our business 
will fail.”  

 
a) for the worse 
b) for the better 
c) to the better 
d) for the best   
  
“Hurry up! Or else we’ll miss the train.” 
“Don’t worry. It’s only _____ from here to the station.”   

 
a) twenty minute’s drive 
b) a twenty-minute driving 
c) twenty minutes’ driving  
d) a twenty-minute drive 
   
“I wonder if they will include our names in the list of participants.” 
“They _____. I don’t want to take part in the competition any more.” 

           
a) had rather not 
b) had better not 
c) would rather no 
d) would better not   

 
 
 
 

27 

28 
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V. ÀÝïñ»É Ñ³Ù³ï»ùëïÇÝ Ñ³Ù³å³ï³ëË³ÝáÕ Ó¨Á: 
       Fill in the blanks with the best choice.  
 
      The traditional Chinese wedding has three ceremonies. Before the man proposes to the 
woman, his family asks (31) _____ the professional matchmaker to send a present from them to 
the bride’s family. Before agreeing to the marriage, the bride’s family (32) _____ accept the 
present. Then it is time for the second stage which, like the Hindu custom, is the checking of the 
horoscopes. After the matchmaker has made sure that the signs are good, the two families ask the 
gods (33) _____ their help. Before starting the celebration, the groom’s family pays the bride’s 
family for losing (34) _____ daughter. Then the wedding party begins. Both the bride and the 
groom (35) _____ be dressed in fine silk. The groom gives ceremonial gifts of pork, chickens, 
candles and clothing to the bride’s family. From the guests at the reception, the couple receive red 
packets containing gold, jewellery or money. The reception is often (36) _____ lunch or dinner of 
fifteen courses, with entertainment by a singer and a band.  

 
    
 

a) to 
b) for 
c) --- 
d) from 

 
  
 

a) must 
b) might 
c) ought 
d) had to 

 
 
 

a) for 
b) of 
c) by  
d) with 

 
 
 

a) a 
b) an 
c) the 
d) --- 

 
  
 

a) had to 
b) might 
c) ought 
d) should 

 
 
 

a) the 
b) --- 
c) a 
d) an 

31 
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VI.  ÀÝïñ»É Ñ³Ù³ï»ùëïÇÝ Ñ³Ù³å³ï³ëË³ÝáÕ ËáëùÇÙ³ë³ÛÇÝ Ó¨Á:  
   Fill in the blanks with the word form that best fits each space.  
 

Britain's national sport is not, as most people think, football but the Lottery. It may 
also be surprising to know that the people who gamble most on the Lottery are not the 
well-off but mostly working class people who hope that by (37) _____ the Lottery they 
will change their lives completely.  

Anyone who buys a lottery ticket believes their number has a (38) _____ chance of 
coming up. The question is whether there is a greater (39) _____ of one number coming 
up rather than another. Although a number that has a random appearance, such as 6 3 2 
5 7 3 looks more likely to win than one that looks more (40) _____, such as 1 2 3 4 5 6, 
both types of number have an equal chance of winning or losing.  

Even though everyone who buys a lottery ticket knows that the chances of them 
becoming millionaires are (41) _____ slim, it doesn't stop them from trying their luck 
every week.  

 
 
 

a) winner   
b) win           
c) unwinnable   
d) winning 

 
 
 

a) reasoning   
b) reasonable          
c) unreasonable   
d) reasonably 

 
 
 

a) possibility  
b) possibly          
c) impossible   
d) possible 

 
 
 

a) logically                
b) logics         
c) logical    
d) illogically 

 
 
 

a) credulous    
b) incredible         
c) credible                  
d) incredibly 
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